SECTION B: GEOMETRY

Reasons must be given for all statements in every question in this section.
(Diagrams are NOT drawn to scale)

QUESTION 1

In 
[image: image1.wmf]D

PQR,  MS 
[image: image2.wmf]QR.  
Calculate the value of 
[image: image3.wmf]x

 if PM = 5, SR = 7, MQ = 
[image: image4.wmf]x

 and PS = 
[image: image5.wmf]2

+
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QUESTION 2
Is it possible for BE to be parallel to CD  in the diagram below?

Justify your answer.
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QUESTION 3
In 
[image: image6.wmf]D

PSU,  RV 
[image: image7.wmf]SU,  RT 
[image: image8.wmf]QW  and PWT is a straight line.  PV = 16 mm 

and UV = 8 mm.
Determine the following ratios (in simplest form):
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QUESTION 4
ABCD is a cyclic quadrilateral with sides AD and BC produced to meet at G.
AC and BD intersect at F and AF = BF.  BE is a tangent to the circle at B and ACE is a straight line.  


If 
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, calculate the sizes of the following angles:

4.1

[image: image11.wmf]1

ˆ

A





     





      (2)

________________________________________________________________

________________________________________________________________

________________________________________________________________

4.2

[image: image12.wmf]2

ˆ

A







               


      (2)
________________________________________________________________

________________________________________________________________

________________________________________________________________

4.3
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4.4
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QUESTION 5

AB is a diameter of circle ABCD.  If 
[image: image15.wmf]x
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, express 
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in terms of 
[image: image17.wmf]x
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QUESTION 6

O is the centre of circle AFC.   E is a point on FC such that AE=EF.  BC is a tangent to the circle at C and BAF is a straight line.  
[image: image18.wmf]x
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.
Prove that AOEC is a cyclic quadrilateral.
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QUESTION 7

Two circles intersect at A and B and RAS is a double chord.  QA, a tangent to the larger circle RABP, cuts chord SB at V, and PA, a tangent to the smaller circle BASQ, cuts chord RB at T.  PR = AR.
(Hint: Let  
[image: image19.wmf]x

P

=

ˆ

)
Prove:

7.1
RA is a tangent to the circle ATB
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7.2
ATBV is a cyclic quadrilateral
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Diagrams
Q 1
[image: image20.emf]

Q 2
Q 3

Is there a way of removing the perpendicular-

it’s irrelevant and may be confusing?
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